6(0 @) (rad)

=
S
o

107

~
=
)
=
Q e
o
O
=
s}

| P T ETVTHY o wvop—nd bl il
T F T r
@ N @ B
0.5 mrmmmrr e | RS A | R R LR LR SRR LR
0 -—1 ; . 2 3 0.9 -—1 : : 2 3
10 1 TPlpg)T (PCA t%obeamliné[f) 10 1 TPlpg)T (PCA t%obeamliné[f)
—=#— DQM_CKF_XiMinusPU_base
—— DQM_CKF_XiMinusPU_retrainOldFiles125_v2_prelimWPM_epoch2
5 5
= 10 £ 107
2 e
2 -
5 S
5 ©
S
1 10°°
1077 1077
o107 01079
T : : T L
o : : o [
: 0.5_— -----------------------------------------
100‘1 1 16 62 3 1(;‘1 1 16 62 3
TPp, (PCA tlo beamling'f) TPp, (PCA tlo beamling'f)

oo p./p

10°E

107k

107 1

I : 2 3
TPlpg)T (PCA t%)obeamlinel)O



	Contents
	Page 1


